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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['1", "lopt'], ['T", "Topt'], ['RH', 'RHopt'], ['ETcl’, "optETcl’], 'LAI’, ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800

2600

2400 -

2200 -

2000 Warning: col ['ECC’, 'FVIEC'] is missing

0 10 20 30 40 50



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-14

BfiE) | FEBIETK (D) | E#=E (EH/K) | XK EFF
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15:50 278 150.0 B5| THA@15:50 KENFERF (RA1ERER)
16:55 278 150.0 RE| FiHRe16:55 REIEF (REERE)
2it]3614.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6
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P3-14

TERRHLER 2 STEELRT (191.0 :

ZRIAEBRIERE159. 0 ml.

HEEHECE (2323.0 vs 4373.0) 15

BfiE) | BRI (7)) | EME (EH/HK) | XS EFF

06:40 294 150.0 BE| {Ri%e06:40 Bz (REEREE)
07:25 294 150.0 A5 {Ri%e07:25 Bz (REERESR)
08:45 294 150.0 B 1Rige08:45 Bzh (REEESE)
09:45 294 150.0 RE| 1Ri&e09:45 Bz (REERS)
10:35 294 150.0 S| Ri%@10:35 Bz (REERRSR)
11:25 294 150.0 BE| Rige11:25 Ba (REAERSE)
12:10 294 150.0 Bl Rige12:10 Bz (REAERE)
12:55 294 150.0 RS Ri&e12:55 Bz (REAERESR)
13:30 294 150.0 B 1Rige13:30 B3h (REAEESER)
14:10 294 150.0 el Rige14:10 Bz (REAEHE)
14:50 294 150.0 B Rige14:50 Bz (REAERSE)
15:35 294 150.0 S| {Ri&e15:35 Bzh (REERSE)
16:35 294 150. 0 S| Ri%016:35 Bz (REERESE)
249t 3822.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6
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P3-14

BfiE) | BRI (7)) | EME (EH/HK) | XS AR

06:45 294 150.0 | {Ri%@06:45 Bz (REEREEE)
07:30 294 150.0 5| {Ri%@07:30 Bz (REERESE)
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11:00 294 150. 0 | Ri%@11:00 Bz (REERESE)
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15:35 294 150.0 RS {Ri&e15:35 Bzl (REERSE)
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249t 3822.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6
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12:45 300 150.0 (B =| Rige12:45 Bz (CGkBERSE)
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=23+13300.0 (117%) 1650. 0 32 FE&KEC: 2080.0, PH: 5.6

MERRNER S STREAERS (195.0 : 162.0), AJEEHF—RZ XA45
ZRIALPRIERE162. 0 ml.
#[EEECZE (2080. 0 vs 4503.0) id 5
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